Домашнее задание математика 6 класс 4 урок
1. Выполните действия:
а) 	36 • (-45): (-90);	
б) 	68 (-12): (-102);
в) -105 • (-16): 56; 	
г) 72 • (-16): 144;
д) 34 • (-72): 153
е) 56 • (-28): 49.
2. Вычислить:
а) 48 • (-3)-28; 
б) 37 + 3 • (-14); 
в) 400-56 10;  
г) 60-14-8.
3. Найдите значение выражения: 543
а) 	 (-56 + 56) • (-7); 
б) 	 (36 - 37) • (-40);	
в) 	 (-28 + 29) (-13); 
г) 64: (-32 + 31); 
д) -144: (-18 + 17);
е) (-31 + 31): (-13 + 12).
Ответы: 
1. а) 18; б) 8; в) 30; г) -8; д) -16; е) -32.
2. а) -172; б) -5; в) -160; г) -52.
3. [bookmark: _GoBack]а) 0; б) 40; в) -13; г) -64; д) 144; е) 0.
